R KFREF2024BRB AR BN EBEM T ZUARELATRE

Fs B R BT 2 AR AR AR w4 TR || #a 0 R 28BS sesun|worm|en crm | emmrerern| R
1 ML 516 42 MEEES TR 1 Z 1 0 3 |81.88) 1 | 77| 3.53 0
2 MELS G £ 58 MEEEE S TR AR Z 10 3 |1 80.81 2 [ 77] 3.49 0
3 Mk 564 Bt MEES TR XK Z 10 3 |80.27] 3 [ 77| 3.39 0
4 ML 516 8B MEEES T BN B 10 3 [79.91] 5 | 77| 3.36 0
5 MRS 6 4B MEES TR T3 Z 1 0 3 |79.42] 6 [ 77| 3.27 0
6 MBS £ 50 MEEEE S TR {r B 20 3 |78.88] 8 [ 77| 3.27 0
7 Mk 56 4 Bt MEES TR | Z 10 3 |78.65] 9 [ 77| 3.25 0
8 MELS I £ 50 MEEEE S TR it 152 3 Z 10 3 |87.61] 1 [56] 4.07 0
9 MRS 6 4 Bt MEES TR fia] 3t Z 1o 3 |85.14] 2 | 56| 3.82 0
10 MBS 6 4 5 B MEEEE S TR Fhi Z 10 3 |85.08[ 3 [56] 3.84 0
11 R s = MEEES TR ')A Z |1 0 3 |84.87] 4 [ 56] 3.79 0
12 MBS 6 4 5 B MEEEE S TR Zih Z 10 3 |83.92[ 5 | 56 3.7 0
13 Mk S8 4B ST MBS T R 710 3 |86.21] 1 [3] 3.95 0
14 MBS 6 4 B EOTHMES TR [l 510 3 186.05[ 2 [ 36 3.92 0
15 R s =T SO TMES T k4 Z |1 0 3 [ 85.4] 3 |36 3.87 0
16 MAELE IR & B BRETERL RS TR E¥A B10 3 [ 89.3] 1 ]49] 4.28 0
17 Mk S8 4% HEETERLE S T =I5 510 3 |87.86] 2 | 49| 4.12 0
18 ML 51645 FEEEEL S T e ass N B 1o 3 | 8.5[ 3 ] 49| 3.98 0
19 Mk S8 4% HEETERLE S T A 210 3 |86.46] 4 | 49| 3.94 0
20 MAELS IR & B BREIERLE S T JE 18 7 210 3 |84.97] 5 [ 49 3.8 0
21 ML 516 &2 BETR gkt B 210 3 |87.44] 1 | 89| 4.04 0
22 MBS 64 5B NEE Ll ERIE B 10 3 | 8.9 2 [8 | 4.01 0
23 ML 516 &2 BETR F e 210 3 |86.35] 3 | 89| 3.92 0
24 ML 5164 HeE TR P i B B 1o 3 [84.65] 4 | 89| 3.79 0
25 Mk 18 4% e KRB 210 3 [83.59] 5 ] 89| 3.66 0
26 MBS 64 B he TR JE 2 Z 10 3 |82.36] 8 [ 89| 3.56 0
27 ML 516 &2 e ZE I g % 10 3 [81.84] 9 | 89 | 3.47 0
28 MBS 64 B HweEITE P Z 10 3 |80.89[ 12 [ 89 [ 3.52 0
29 AR AR S % 10 3 [83.72]1 1 | 42 3.7 0
30 AP R I 510 3 |83.07) 3 [ 42| 3.64 0
31 AP AR i 5T % 10 3 |82.78] 4 [ 42 ] 3.58 0
32 AP R Bk 3 Z 10 3 |82.05] 7] 42| 3.51 0
33 A i B HESEFEZAR 7K = R % 10 3 [89.37] 1 | 42| 4.27 0
34 AL =2t BESERFZAR AR B 10 3 |86.250 2 | 42| 3.94 0
35 A i B HESEFEZAR L B 10 3 |85.63] 4 [ 42 3.9 0
36 fE 22 e B [H 2 EEE Z 1o 3 [91.13] 1 | 59 4.4 0




F5 B R BT 44 FR AREN IR w4 5 SR B RS [ sas%| A or OIS B
37 AL =2t B[] = THE Z 1 0 3 190.07] 2 [ 59] 4.29 0
38 i3 B [ 27 ARIESE2 Z [0 3 189.63] 3 [ 59| 4.27 0
39 AL =2t B[] = RO HE Z 1 0 3 |1 89.3] 4 [59] 4.27 0
40 fEU A e B [H] 2 THi 2N Z ] 0 3 [88.13] 5 | 59| 4.13 0
41 KREE 5158 TR HTREEESE AR MR & B 10 3 ]91.87] 1 [ 63] 4.45 0
42 KRS (5B TR T REE E R FHE B 10 3 [o91.22] 2 | 63| 4.41 0
43 KREHE 5E B TRE2ER BRI SHEA T AR 21O 3 189.97] 3 [ 63] 4.29 0
44 REGE 5158 TRE2ER HTEZE5EAR B B 10 3 [89.63] 4 | 63| 4.27 0
45 KA 5E B TR BRI SHEA HEE 21O 3 |87.86] 5 [ 63] 4.06 0
46 KRS (5B TR TR S HEOR TYE B 10 3 |85.86] 10 | 63 3.9 0
47 KA 55 B TRE2ER B EERZSHEA B B 21O 3 [89.87] 1 | 61 4.3 0
48 K 515 B TR HTEEEZSHEA Z e 510 3 [88.87[ 2 | 61 ] 4.19 0
49 KA 5B TRE2ERE B EERZSHEA 2 210 3 |87.02] 3 | 61] 4.04 0
50 K 515 B TR B BRI SHEAR FRAE Bk Z 10 3 [|84.37 5 | 61 ] 3.77 0
51 KREE 5B TR 5 BRI SHEAR Rett = 210 3 |83.31] 6 [ 61] 3.65 0
52 K 515 B TR BB S KRR M 210 3 [90.58] 1 |135] 4.36 0
53 KA 5E B TR HE Rl S KRR EAFH; Z |1 0 3 |88.75] 2 [135] 4.17 0
54 K 515 B TR BaERRES KR EA RN Z 10 3 | 88.57| 3 |135] 4.16 0
55 REGE 515 8 TREZB B RLE S KRR Il 7 |1 0 3 |88.33] 4 [135] 4.15 0
56 REHE 515 B TRE2ER E I AN (6 E N JTEM AR B 1o 3 [88.22] 5 |135] 4.09 0
57 REGE 515 B TSR B RLE S KRR BHRAX 7 |1 0 3 |88.17] 6 [135] 4.1 0
58 REHE 515 B TRE2ER E I PN (6 E N ZHE B 1o 3 [88.05[ 7 |135] 4.12 0
59 REGE 515 8 TSR B RLE S KRR 1 50 % | 0 3 |87.15] 8 [135] 4.02 0
60 KA 515 B THE2ER E I AN (6 E N (EHEEN B 1o 3 [87.06] 9 |135] 4.01 0
61 REGE 515 8 TREZB B RLE S KRR P 7 |1 0 3 |86.96 135| 3.98 0
62 REHE 515 B TRE2ER E I PN (6 E N SRS B 1o 3 [86.08 135 3.92 0
63 REGE 55 8 TR 2R B RlE 5 KRR i % |1 0 3 | 86.06 135 3.87 0
64 REHE 515 B TRE2ER BBl S KRR EHEIL L B 10 3 |85.96 135] 3.9 0
65 KEE 515 B TR HE L gyl % | 0 3 191.57] 1 [165] 4.43 0
66 REHE 515 B TRE2ER BAE LR HIEE B 10 3 |91.05] 2 |165] 4.43 0
67 KEE 515 B TR HE L i R EH 7z |1 0 3 190.06] 3 [165] 4.33 0
68 REHE 515 B TRE2ER BAE LR FEA 210 3 [89.99[ 4 |165] 4.33 0
69 KEE 515 B TR HE L iR Z [ 0 3 |88.84] 5 [165] 4.17 0
70 KA 515 B TR 2R JBAE LR 7KK Z 1o 3 |88.26] 6 [165] 4.12 0
71 K 515 B TR S LR R B 10 3 [87.75] 7 |165] 4.1 0
72 KA 515 B TR JBAE LR TR 21O 3 |87.24] 8 [165] 4.02 0
73 K 515 B TR HE L =ET % | 0 3 |87.21] 9 [165] 3.98 0
74 KA 515 B TR JBAE LR ki 210 3 |87.05] 10 [165] 4.03 0




FEs B R TR ABLENY ZFR 42 5] | | B R 528 Bk | o an| #am| e R |mmaerarn| ¥R
75 KA 515 B TR 2R HAE TR HH 4 52 Z o 3 |86.87] 11 |165] 4.01 0
76 K 515 B TR HE L B U % | 0 3 |86.65] 12 [165] 3.99 0
7 KA 515 B TR HAE TR %o fE Z [0 3 |86.19] 13 [165] 3.93 0
78 KRS (5B TR S LR Eafiyd Z 10 3 | 85.4 ] 14 |165] 3.81 0
79 KA 5E B TRE2ER YK TAE [k B 10 3 |87.35] 1 [101] 4.05 0
80 KRS (5B TR YL T A2 I E 2| 0 3 |84.82] 2 [101 3.8 0
81 KREHE 5E B TRE2ER YK TAE KER Z 1 0 3 |83.65] 3 [101] 3.65 0
82 KRS (E B TR Y TR B Z 1o 3 [82.16] 4 |101| 3.54 0
83 REE 5158 TR 2B YK TAE 33 3 Z 10 3 |81.67] 5 [101] 3.48 0
84 KRS (5B TR YL T A2 Bzl Z 10 3 180.35] 6 [ 101 3.4 0
85 KA 55 B TRE2ER YK TAE R B 10 3 |80.08] 7 [101] 3.35 0
86 K 515 B TR YIEEIM T FE JE b Z 10 3 |80.05 8 |101] 3.33 0
87 A TR 2 MFEFEAR S S Z |1 0 3 |85.45] 1 [ 92| 3.87 0
88 HLA LR 2B MEFAR G A L 510 3 [84.02[ 2 ] 92| 3.72 0
89 H A TR 2 MFEFEAR S T T 210 3 |83.13] 3 [92] 3.62 0
90 HL A T RE 2B MEFARE A By b Z 10 3 |82.52f 4 [ 92 3.55 0
91 H A T2 MFEFEAR S 24 210 3 | 82.2] 5 [92] 3.52 0
92 HL A T RE 2B MEF ARG A B 210 3 |82.15[ 6 [ 92 | 3.54 0
93 H S LR 2B WEFEEAR SN AT AR 510 3 |81.52] 8 [ 92] 3.46 0
94 A TR 22T A TR A H 3k ERUEL B 1o 3 [82.52] 51 ]184] 3.57 0
95 HL A LR 24P A LR 5 DA G 210 3 190.67] 1 |184] 4.34 0
96 A TSP A TR H a3 S Al B 10 3 190.35[ 2 [184] 4.32 0
97 HL S LR 2B A LR 5 SR 7 |1 0 3 189.95] 3 [184] 4.29 0
98 A TSP A TR H a3 KPR Z 1 0 3 |89.68[ 5 [184] 4.22 0
99 HL S LR 24P A LRI 5 TTE 210 3 |1 89.6] 6 [184] 4.25 0
100 A TSP A TR H3 I B 10 3 |88.75) 7 [184] 4.15 0
101 HL S LR 24P A TELH HAIM T 1%k F 10 3 |88.67] 8 [184] 4.18 0
102 A LR 2B A T H 3 KPR Z 10 3 |88.53[ 9 [184] 4.14 0
103 A LR 24P A TELH HAIM T Em 7z |1 0 3 |88.33] 10 [ 184] 4.14 0
104 H A TR 22 H A TR A H 3k ST 210 3 | 87.98| 12 ] 184] 4.06 0
105 HL S LR 24P A TELH HAI CiiE B3l o 3 |87.88] 13 [184] 4.09 0
106 H A TR 22 A TR H3 XIFT 45 Z 1o 3 | 87.83) 14 ] 184] 4.08 0
107 LA LR 24P A TELH HAIM XIJE 210 3 |87.82] 15 [184] 4.09 0
108 A TR 2B A TR AL H 3k RIET 21O 3 186.97] 16 | 184] 4.01 0
109 HL S L RE 24P BedR 587 TFE XYL 210 3 |86.31] 1 [98] 3.95 0
110 A TR 2B RedR 5 8h 7] T AR T 21O 3 |85.42] 2 [ 98] 3.85 0
111 HL S L RE 24P BedR5ah ) TFE T B 10 3 [83.38] 3 ]98] 3.69 0
112 A TR 2B RedR 5 8h 7] T K5 210 3 183.29] 4 [ 98] 3.67 0




F5 B R BT AR RN A FR w4 TR | | #e 0 R 28 BS| sesu|worm|en crm | emmrerern| R
113 R Y ReR 5 8) 7] T F Z o 3 [83.24] 5 ] 98] 3.65 0
114 HL A TR 2B BedR 587 THE RAT B 10 3 [83.18] 6 | 98| 3.59 0
115 A TSP RV 520 ) TS Dl Z 1 0 3 |83.07] 7 | 98 3.6 0
116 HL A L RE 4B B 587 TFE LR B 10 3 |81.87] 8 | 98 3.5 0
117 LA LR S2BE H itk YL BH 510 3 91.6 | 1 | 105] 4.45 0
118 HL A L RE 2B Hahik pa] 20 3 |88.84] 2 [105] 4.20 0
119 R Hahit R 21O 3 |88.21] 3 [105] 4.14 0
120 H A LR 2B Hazhik YL Z 1o 3 [ 88.1] 4 |105] 4.10 0
121 R Hahit EHRZE 21O 3 |87.16] 5 [105] 4.03 0
122 H A LR 2B Hahik wH= Z 1o 3 | 86.8] 6 [105] 4.00 0
123 LA TR 2B H itk X EE G Z 10 3 |86.53] 7 |105] 3.97 0
124 HLA LR 2B Hahit B I 510 3 |86.64] 8 | 105] 3.96 0
125 HL S LR 2B Hahik T AHAN 210 3 |84.83] 9 [105] 3.88 0
126 LY e e U ol Jii g2 B 210 3 |87.58f 1 [39] 4.13 0
127 B2 B Ep B Tk 4kt 210 3 |87.47] 2 [ 39] 4.03 0
128 LY e el U ol % Z 10 3 186.96f 4 [ 39 4. 01 0
129 B2 B B HEK B10 3 [86.01] 1|8 | 3.95 0
130 SPEL 2B S EL il Z ] 0 3 | 84.6] 2 ]85 ] 3.79 0
131 B2 B S EL XI& % |1 0 3 |84.09] 3 | 8 | 3.74 0
132 BB 2B BB RS Z ] 0 3 [83.37] 4 ]85 | 3.66 0
133 B2 B SR A 210 3 |82.55] 6 [ 85| 3.58 0
134 SIEL 2B BB B Z ] 0 3 [81.96] 8 | 85| 3.51 0
135 B2 B B FLEW % |1 0 3 | 81.9] 10| 8 | 3.52 0
136 SR E Y2 XBE Z 10 3 |ot.11f 1 ] 80| 4.43 0
137 LA S 2 SMRSE 7| 0 3 [89.98] 2 | 80| 4.29 0
138 SR E Y2 HE Z 1 0 3 |89.49( 3 [ 80| 4.27 0
139 B2 BT YR B R w10 3 [88.58] 4 | 80| 4.19 0
140 SR EE YR 2 7 E Z 10 3 |87.65[ 5 [ 80| 4.09 0
141 B2 BT YR BEE % |1 0 3 |87.43] 6 [ 80| 4.05 0
142 SR E T YR 2 F 5 Z 10 3 |87.32f 7 [ 80| 4.07 0
143 =l 5 TRl 510 3 89.2 | 1 |149| 4.26 0
144 1E2E 152 R Z 10 3 |89.16[ 2 [149] 4.2 0
145 = 5 N Z [ 0 3 189.08] 3 [149] 4.24 0
146 1E2E 1L RS 510 3 |87.89[ 4 [149] 4.13 0
147 B 5 00— % | 0 3 |87.58] 5 [149] 4.07 0
148 LB 1L B0 10 3 |87.46| 6 [149] 4.05 0
149 B 15 B LT % | 0 3 87.4 | 7 |149] 4.07 0
150 1E2E 1L FIKHE F10 3 |87.32| 8 | 149 4.02 0




F5 B R BT AR RN A FR w4 TR | | #e 0 R 28 BS| sesu|worm|en crm | emmrerern| R
151 1E2E R 5 G Z 10 3 |86.81f 9 [149] 3.98 0
152 5B 15 | STRE % 10 3 [86.75] 10 | 149 3.98 0
153 1E2E R 5 FEERAR Z 10 3 |86.73] 11 [ 149 4 0
154 B P ES=hi B 10 3 |86.49] 13 [149] 3.95 0
155 e AT L 25 i Z 1o 3 |86.17] 14 [ 149] 3.92 0
156 N A== U ITBUE i Z 10 3 [93.14] 1 |8 | 4.59 0
157 N = a2l ITECE RIBPE Z 10 3 |91.02] 2 | 8 | 4.38 0
158 NI AR ITBUE AUl Z ] 0 3 [90.71] 3 | 8 [ 4.34 0
159 IS L P AR ITEE KNt Z [0 3 [89.92] 4 | 85 4.3 0
160 NI AR ITBUE FBELHE Z 10 3 [88.91] 5 | 85 4.2 0
161 NI A B ITHUE AR IR Z 1o 3 |88.86] 6 [ 85 ] 4.19 0
162 N FEE AR ITBER i REE Z 10 3 |88.54| 7 | 85 4.1 0
163 NI AR B 57 5l S S R A 4 A Z |1 0 3 189.89] 1 | 56| 4.31 0
164 NN = e el U S5l S SRk iR AR LT Z 10 3 [89.64| 2 | 56 | 4.27 0
165 N = =l 57 8] 5 4L o PR SR 710 3 189.26] 3 [ 56] 4.23 0
166 NN = e el U 57 5 54 S R b H A Z 10 3 [88.99( 4 | 56| 4.18 0
167 NI AR B 57 81 5 4 2 PR A5 Z |1 0 3 |88.66] 5 | 56| 4.14 0
168 N A= e el U e TAE BiE Z 10 3 190.77f 1 [ 54 4.38 0
169 = =l U HETHE T 5L % | 0 3 189.19] 3 | 54| 4.21 0
170 N = el U HETHE AR Z 1 0 3 88.4 | 4 | 54| 4.13 0
171 = =l e THE = Z [0 3 |87.99] 5 | 54| 4.09 0
172 INFEE B2 B2 ST ECE B B 1o 3 [91.38] 1 | 46| 4.44 0
173 = =l BG 2 5T ECE W¥a 5z Z [0 3 |91.16] 2 | 46 | 4.42 0
174 NFEE B A2 B2 ST ECE &E H Z 1o 3 |ot.o1| 3] 46| 4.41 0
175 = =l BG 2 5T ECE RE [ 4R Z | 0 3 189.27] 4 [ 46| 4.23 0
176 LB 5B T4 Z 1o 3 [91.34] 1 | 53| 4.44 0
177 B RN 0% K % 10 3 [90.49] 2 | 53| 4.37 0
178 EHEGE =g ARV 510 3 [89.92[ 3 | 53] 4.32 0
179 B RN % A B % | 0 3 189.75] 4 | 53| 4.31 0
180 BB 5% E JE 25 W Z 1o 3 [88.96] 5 | 53] 4.20 0
181 B RN TR A3z Z [ 0 3 |88.83] 1 [87] 4.19 0
182 B RN TEE R EE Z [0 3 | 8707 2 | 87| 4.02 0
183 B RN TR 7K —i 210 3 186.99] 3 | 87| 4.01 0
184 BB TREE GVl 21O 3 |86.91] 4 | 87 ] 4.01 0
185 R TAEE R BT B 10 3 |86.44] 5 [ 87| 3.97 0
186 EHEGE TREE Ea Z 10 3 |85.82] 6 | 87 ] 3.91 0
187 B AT TR =% 510 3 85.5 | 7 | 87| 3.86 0
188 BB THER HH 3% Z 1o 3 [89.09[ 1 ] 45 ] 4.09 0




F5 B R BT AR RN A FR w4 TR | | #e 0 R 28 BS| sesu|worm|en crm | emmrerern| R
189 BB THER J&5 48 Z o 3 | 8775 2 | 45| 4.07 0
190 B AN LR W BE IR % 10 3 [ 8.7 3| 45 3.9 0
191 BB THER FEn[a] Z 1 0 3 | 84.74 4 | 45| 3.78 0
192 B 2 ER Z 10 3 [92.29] 1 | 58| 4.54 0
193 B RN 2 Tk R B 10 3 ]91.22] 2 [ 58] 4.47 0
194 B i 0T Z 10 3 [90.94] 3 | 56| 4.42 0
195 B R P T ZA Z 1 0 3 190.04] 4 [ 58] 4.35 0
196 B AN P e Z ] 0 3 [89.85] 5 | 58 | 4.31 0
197 B R P B AE Z [0 3 |1 89.4] 6 [ 58] 4.28 0
198 B AN N JJF PR FEoRIG Z ] 0 3 [ 88.7 ] 1|46 4.19 0
199 B R Ao HEW Z 10 3 |88.27] 2 [ 46 ] 4.15 0
200 B AN AN TSR TR Z 10 3 | 87.18) 3 | 46 | 4.06 0
201 B RN NN e R MR B 10 3 |86.63] 4 [ 46| 3.97 0
202 B AT T35 E SRR 510 3 [ 886 1] 8| 4.18 0
203 B RN T EH S i3 Z |1 0 3 |85.11] 2 | 8 | 3.81 0
204 B AT T35 E FLE Z 10 3 [85.07] 3 ] 8| 3.83 0
205 B RN T EH mE2 Z |1 0 3 [ 84.5] 4 |8 | 3.79 0
206 BB T35 E i 210 3 [83.78] 5 | 8 | 3.68 0
207 B RN T EH ) Airvay % |1 0 3 |83.62] 6 [ 86| 3.67 0
208 EHEGE 37 e Btk Z 10 3 [83.35] 7] 86| 3.68 0
209 2 540 T 2B SRR A S TR LY % | 0 3 ]190.64] 1 [ 52] 4.37 0
210 2 540 T 5B TR R S TR AR LIS B 10 3 [85.69[ 2 | 52 3.9 0
211 2 54 T 2B SRR A S TR LTS % | 0 3 |83.37] 3 |52] 3.64 0
212 2 540 T 5B SRR R S TR =il Z 1 0 3 |83.18f 4 [ 52 3.66 0
213 2z 540 T 2B = X I 2 Z [0 3 [86.99] 1 | 50| 4.01 0
214 2 540 T 5B = MriEAE Z 10 3 [86.34] 2 | 50 | 3.96 0
215 2z 54 T 520 2 Bt % | 0 3 [85.19] 3 | 50| 3.82 0
216 2 540 T 2B 2 R Z 1o 3 [84.88] 4 | 50 3.8 0
217 2z 54 T 520 tETESTZ R Z [0 3 |85.62] 1 [ 73] 3.85 0
218 b2 540 T 2B tEITESTE AT Z 1o 3 | 84.96] 2 | 73] 3.79 0
219 2z 54 T 520 tETESTZ I % | 0 3 84.9 | 3 | 73 3.8 0
220 2 540 T 2B tEEITESTZ XI5 Z 10 3 |84.51| 4 | 73 3.8 0
221 2z 54 T 520 tETESTZ e B3l o 3 183.94] 5 [ 73] 3.73 0
222 2 540 T 5B tETRESTE D& Z 1o 3 [83.03] 6 |73 3.4 0
223 2z 54 T 520 tETESTZ "R % | 0 3 |81.73] 9 [ 73] 3.47 0
224 27 540 T 5B R A0 Z 10 3 |85.8f 1] 29] 3.89 0
225 2z 54 T 520 Y= PARiEE S B 10 3 [84.96] 2 | 29| 3.77 0
226 540 T 2B THLAES B L TR Fhp 210 3 |80.13 1 ] 42| 3.38 0
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227 2 540 T 5B THLIEE B AL TR (198 B 10 3 |1 80.1] 2 [42] 3.42 0
228 2z 54 T 520 TALIES EM L TR FHAE Z [0 3 179.94] 3 | 42| 3.32 0
229 2 540 T 5B A ERE Z 1 0 3 ]90.66] 1 [ 88 ] 4.39 0
230 2z 54 T 520 M sKAELG Z 10 3 190.64] 2 | 88 | 4.32 0
231 2 54 T 2B N AE R Z 1o 3 ]190.56] 3 [ 88| 4.36 0
232 2z 540 T 5205 M T 20 3 190.55] 4 [ 88| 4.38 0
233 2z 540 2B N XA T 510 3 |87.86] 5 | 8 | 4.09 0
234 2z 54k T 528 M TME Z 1o 3 |86.52] 6 [ 88 ] 3.96 0
235 27 540 B A K Z 1o 3 |85.78] 7 [ 88| 3.87 0
236 2z 54k T 520 M s Z | 5 3 |85.76] 8 | 88 | 3.88 5
237 2z 540 2B A X E& Z 10 3 |85.33] 10| 88 | 3.83 0
238 2 54 T 5B S Ak SRR Z 10 3 |84.14[ 16 ] 8 | 3.71 0
239 WU L AE2A B PR R Je 45t T A% Y 5 I 210 3 |81.00] 3 |59] 3.44 0
240 LB L FE 24 B PR e 3 ] T A% T1E Z 10 3 |85.22] 1 | 59| 3.84 0
241 L T2 22 B PR R Je 45t T A% AL R B1o0 3 |82.26] 2 [ 59] 3.53 0
242 LA L FE 24 B PR K 3 ] T2 Tl 510 3 |80.84] 4 | 59 3.4 0
243 WU L AE2A B PR R Je 45 ] T A% o4k 210 3 180.70] 5 [ 59| 3.36 0
244 LA L FE 24 B Tolkiit 2R Z 1o 3 [89.27] 2 | 34| 4.23 0
245 WU A 2E B Tk it XI 3 % | 0 3 190.49] 1 [ 34 ] 4.38 0
246 LA T2 2 e Tkt AT Z 10 3 | 87.07f 3] 34 4 0
247 IR N WU B L8135 2% B 31k J7 B 210 3 |81.42] 47 [347] 3.48 0
248 B T2 22 e WUBRBETT 3 2% 3 E 2k LIk B 1o 3 [81.91] 41 |347| 3.48 0
249 LB T2 22 B WU B L8135 2% B 31k T 210 3 |82.11] 38 [347] 3.52 0
250 LA T2 2 e WU LT3 J 3 11 @k J Z 1o 3 [89.03] 6 |347| 4.22 0
251 L T2 22 B WU BT3B 31k % 510 3 189.26] 5 [347] 4.19 0
252 LA T2 2 e WUBRBETT 3 2 3 E 2k B/ B 1o 3 | 82.57| 33 |347] 3.57 0
253 LA T2 B WUBRSE 35 % e 3k IS S~ B3l o 3 |85.35] 16 [347] 3.84 0
254 BLbk T A2 2% B WUBRBE T 3 2% e 1 2k Eeadil 210 3 [89.56| 3 |347| 4.27 0
255 MU CRE 2~ Bt WU BT 8132 2% L 1 31k A K B3l o 3 | 81.46| 45 [347] 3.44 0
256 BLbk T A2 2% B WUBRBE T 3 2% e 1 2k St 210 3 [88.41] 8 |347| 4.14 0
257 LA T2 B WUBRSE 35 % e 3k AR % |1 0 3 |86.78] 11 [347] 4.06 0
258 ML TR 2B LR 613 2% e 1 31k ENDR B 10 3 | 77.98[100] 347] 3.11 0
259 LA T2 B WUBRSE 35 % e 3k Fs 210 3 186.83] 10 [347] 3.99 0
260 BLb T A2 22 B HUBR BT 38 % L B 3k B 21O 3 [86.71] 12 | 347 3.98 0
261 P L2225 WU T332 B 31k JHE B 10 3 189.89] 1 [347] 4.27 0
262 IRy WU BT 813 % 3 B 31k BNl 21O 3 [89.63] 2 |347| 4.25 0
263 P L2225 WU T332 B 31k IR B 10 3 |87.51] 9 [347] 4.07 0
264 MU AR 2B WU Tt &% H 31k K I Y g | o 3 82501 34 [ 347 3.57 0
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265 MU L FE 2B WU BT 813 % 3 B 31k I Bl o0 3 |78.82] 79 [347] 3.3 0
266 P A2 22 P WUBRSE 35 % 3 3k Mk % | 0 3 |83.21] 30 [347] 3.66 0
267 IRy WU BT 813 % 3 B 31k g 210 3 [80.45] 58 | 347| 3.35 0
268 LA L2 24 B WUBRBE T 3 2% L B 2k B B 10 3 [84.53] 18 | 347 3.78 0
269 IRy HUBR BT 3 L E 3k i [ 5 21O 3 [79.16] 71 | 347 3.26 0
270 LA L2 24 B WUBRBE T3 2% L B 3k LI 510 3 [79.38] 68 | 347 3.22 0
271 MU L FE 2B WU BT 813 2% 3 B 31k S 2| o 3 189.30] 4 [347] 4.2 0
272 HLB AR 24 B BUBS T i % 3 E 3k BN 510 3 [85.55] 15 | 347 3.88 0
273 IR e WU BT 8135 2% 3 B 31k ER Bl o0 3 183.92] 20 |347] 3.71 0
274 LA L2 24 B WUBRBE T 3 2% L B 2k [N B 1o 3 [86.47] 13 | 347 3.98 0
275 BLb TFE 22 B HUBR BT 3 L B 3k JSlE Z 1o 3 [83.74] 25 | 347 3.71 0
276 LB L FE 24 B WUBRBE T3 2% E 2k A 510 3 | 84.92( 17 |347] 3.79 0
277 BB LFE =B WUBRSE 3 % e 3 ik ZIR Bl oo 3 |85.90] 14 | 347] 3.89 0
278 LB L FE 24 B AL % L 3hik RN 510 3 [89.11] 1 | 27 4.2 0
279 WU L AE2A B ALK UAL K L 8 B0k KT 210 3 | 81.4] 2 [ 27] 3.47 0
280 T EVLELE S HE AR B IEVLEEE S HEAR TR 510 3 192.96[ 1 [177] 4.54 0
281 T ENLRLE SR 2B TFEHLEEE SR TRA 510 3 190.32) 2 | 177 4.34 0
282 T EVLELE S EAR B IEVLEEE S HEAR T 510 3 |89.86[ 3 [177] 4.34 0
283 TEENLRLE S H R 22 B TFEALEE SR JEYT 510 3 189.48] 4 177 4.28 0
284 THEHLELE S HEAR B IEPLEEE S HAR A I Z 1 0 3 189.47( 5 [177] 4.26 0
285 TEENLRLE S H R 22 B TFEALEEE SR TR 510 3 [89.41] 6 | 177| 4.26 0
286 TEENLRLE S AR 2E R TFEALEREE S HAR AT B 1o 3 | 89.3] 7 |177] 4.23 0
287 TEENLRLE SR 22 B TFEALEE SR K 510 3 [88.98] 8 | 177] 4.20 0
288 TEEHLRLE SR 2E R TFEALEEE S HAR BRI B 1o 3 [88.78] 9 |177] 4.15 0
289 TEENLRLE S H R 22 B TFEALEE SR L LH 7] 0 3 188.77| 10 | 177 4.24 0
290 TEENLRLE S AR 2E R TFEALEREE S HAR Tt B 1o 3 | 88.6 | 11 ]177] 4.17 0
291 TEEHLRLE 53R 2E BT TFEALEE SR SR B10 3 [88.58] 12 | 177 4.19 0
292 THEHLELE S HE AR B IHEPLEE S HAR KR Z 10 3 | 88.57 | 13]177] 4.18 0
293 IEEHLRLE SR 2E BT TFEALRE SR XK 210 3 [87.57] 14 | 177 4.1 0
294 HENRE S S R 2B THEALEZE S HA Wilid Z ] 0 2 [87.34] 15 | 177 4.02 0
295 TEEHLRLE 53R 2E BT A TR g Ll B 10 3 [o91.71] 1 | 56| 4.45 0
296 THENLEL 5 H AR 2B A T3 R /=P 510 3 190.53] 2 |56 [ 4.35 0
297 TEEHLRLE SR 2E BT A THRE ZEHlg e 7] 0 3 [89.31] 3 | 56| 419 0
298 | FELHLELS S HOREb N TR g I/ | 0] 3 |87.81] 4156 4.09 u
299 T EHLRLE 53R 2E B A TR BE K5 7] 0 3 [85.52)] 5 | 56| 3.84 0
300 T ENRL R S AR 2B BERZA A 7|0 3 [8832] 1 |70 415 0
301 T EHLRLE 53R 2E B BERZA | R 7] 0 3 [87.61)] 2 | 70| 406 0
302 T ENLRL R S AR 2B BERZA G 7| o 3 [8.8] 3 |70 4 0




F5 B R BT AR RN A FR w4 T B | mesm| Hea R S8 BRSR| sasu| #aas| e CPBsD | mmperars
303 THEHLEL S S H AR B BEZ4E XISUAT Z 1 0 3 186.53] 4 [ 70] 3.96 0
304 T EHLRLE S AR 2E BT BEZ4E KUK % 10 3 [86.46] 5 | 70| 3.98 0
305 TEEHLELE S H AR Z B BEZ4E 2= FH s Z 1 0 3 |86.36] 6 [ 70] 3.96 0
306 PANSIEN K %7 e T BT M2 Z 10 3 |88.76] 1 [315] 4.18 0
307 v P A 2 B AL LR E K 21O 3 |88.22] 2 [315] 4.15 0
308 PANSIEN K %7 e T BT RE Z 10 3 |87.43] 3 [315] 4.07 0
309 v P A 2 B AL Wi 0o PR B 10 3 |87.01] 4 |315 4 0
310 PANSIEN K %7 e BT PR B 10 3 |86.44] 5 |315] 3.96 0
311 v P A 2 B WA LRE R B 10 3 |84.81] 6 [315] 3.81 0
312 PANSIEN K %7 e T BT s 510 3 |84.59] 7 [315] 3.74 0
313 ANSIER K/ =T AL LR KK BH B 21O 3 |84.55] 8 [315] 3.75 0
314 AN (EN a5 G e = A A LR BRRFE Z 10 3 |84.52] 9 |315] 3.74 0
315 ANSIER K =T A LR XI5 i 210 3 |84.22] 10 [315] 3.75 0
316 AN (EN a5 G e = A A LR VLI 510 3 [ 84.19[ 11 ]315] 3.72 0
317 ANSIER K = AL ISR 210 3 |83.94] 12 [315] 3.7 0
318 AN (EN a5 G e = A A LR FH R 74 Z 10 3 [83.92] 13 ]315] 3.69 0
319 ANSIER 1 = A LR FhERR 210 3 |83.74] 14 |315] 3.74 0
320 AN (EN a5 G e = A A LA ik 210 3 [83.48] 15 |315]| 3.66 0
321 ANSIER K = WAL 2R 7 |1 0 3 |83.31] 16 [ 315] 3.64 0
322 S YU A 2 B A LA CEA B 1o 3 |83.19] 17 |315] 3.64 0
323 ANSIER 1 = WAL Bt 510 3 |83.11] 19 [315] 3.66 0
324 v A B AR TR XI5 B 0 3 |82.95[ 20 [315] 3.59 0
325 ANSIER 1 = WAL 25 i 210 3 |82.83] 21 [315] 3.62 0
326 v P A A B AR TR itg B 10 3 |82.63[ 22 [315] 3.59 0
327 ANSIER 1 = WAL JEE 210 3 |82.58] 23 [315] 3.57 0
328 v P A B AR TR 2 E Z 1 0 3 |82.43| 24 [315] 3.57 0
329 ANS(EN a7 G = A AR i ¥ Bty 210 3 |82.35] 25 [315] 3.57 0
330 ANSIER K% 4 = AL AR A2 210 3 | 82.17[ 26 | 315] 3.52 0
331 ANS(EN a7 G = A WAL XK A AL F 10 3 |81.94] 27 [315] 3.54 0
332 AR5 T R 2 B W2 L A5 4 B10 3 [85.03] 2 | 51] 3.81 0
333 fEEE TR W i ) e d U W2 HL JEE W 4R % 10 3 |83.72] 5 [ 51] 3.72 0
334 S T AR 2B W2 K AL B Z 1o 3 |85.84f 1 ] 51 ] 3.89 0
335 fEEE TR W i ) e d U W2 HL 7K % Z [0 3 |84.16] 6 | 51 | 3.67 0
336 A T R 2 B W2 L B s Z | 0 3 [84.27] 4 | 51| 3.77 0
337 FEEE TR W 5 ) e d U JE i TR IR 7z |1 0 3 |86.90 1 [ 71 ] 4.02 0
338 S T AR S B JEci e Eai 2l o 3 [86.23 2 | 71| 3.92 0
339 fEEE TR W .4 e d U fE i I 7z |1 0 3 |86.01 3 | 71| 3.94 0
340 S T AR S B JEci e XI| 5 £t Z |0 3 Is5.94 | 4 [ 71| 3.88 0




F5 B R BT AR RN A FR w4 TR | | #e 0 R 28 BS| sesu|worm|en crm | emmrerern| R
341 S I AR S B B =T Z 10 3 [85.86 5 171 ] 3.91 0
342 S T R S B B AN e BilpEsR | 2 | 0 3 [82.77 | 21| 71 3.5 0
343 eSS Witk Al el U JE i S Z [0 3 [85.55 6 | 71 | 3.88 0
344 2T e % I Z 10 3 191.48] 1 [102] 4.43 0
345 = o B XM Z 10 3 |91.35] 2 |102] 4.43 0
346 22T B E s BIRAR I 0 3 91.24[ 3 1102 4.44 0
347 = o =St Z 10 3 |89.67] 4 |102] 4.26 0
348 TR E s AR Z 10 3 [89.04] 5 [102] 4.21 0
349 2 o o ] Z 1o 3 |88.77] 6 [102] 4.17 0
350 b= o E s XIHESZ Z 10 3 [88.17] 7 [102] 4.13 0
351 2 o o RIS Z 1o 3 |87.56] 8 [102] 4.06 0
352 R = ATH A B el Z 10 3 |87.16f 9 [102] 4.03 0
353 SRR Hprgfr 5% X W 5’4 0 3 86.69 | 1 | 43 4 0
354 ZTF B EPr&5t 5 A 5 WA A Z 10 3 |84.94[ 2 | 43 3.83 0
355 i Hprgfr 5% ZREE 7| 0 3 [84.77] 3 | 43 3.79 0
356 2B A [ 25 . 210 3 [|85.25[ 47 | 215] 3.82 0
357 = A F s Z |1 0 3 189.47] 11 [215] 4.23 0
358 LTS G Bl 5 5% Z 10 3 191.60[ 1 |215] 4.46 0
359 i G s 7K IV A z 0 3 91.211 2 1215 4.41 0
360 AT Gl FEER B 10 3 |91.10f 3 [215] 4.43 0
361 = G s Fifs b 4 7| 0 3 |91.06] 4 |215] 4.42 0
362 i Gl S A Z 1 0 3 190.90f 5 [215] 4.41 0
363 i SR N 5’4 0 3 90.55| 6 | 215| 4.35 0
364 AT S "B NX Z 1 0 3 ]90.40[ 7 [215] 4.34 0
365 = G s A K B3 lo 3 |90.23] 8 |215] 4.37 0
366 AT S TATIE B 10 3 |89.88[ 9 [215] 4.3 0
367 = Sk R 7z |1 0 3 189.87] 10 [215] 4.28 0
368 TR SR I 5’4 0 3 89.46 | 12 | 215 4.21 0
369 = A i B Z [0 3 189.42] 13 [215] 4.25 0
370 i Sl LTEZIE! Z [0 3 |88.94[ 14 [215] 4.22 0
371 = S b girs 1) Z [ 0 3 |88.94] 14 [215] 4.23 0
372 TR SR 2Nl 5’4 0 3 88.42 ] 18 | 215| 4.16 0
373 e o A G I % 10 3 |88.20] 19 [215] 4.08 0
374 =i SR iy 2| 0 3 | 87.92| 20| 215] 4.08 0
375 e i R 5’4 0 3 85.35 | 35 | 121 3. 86 0
376 SRR 7 Ji IR 5’4 0 3 92.391 1 1121| 4.52 0
377 e i TGS 54 0 3 92.191 2 1121] 4.52 0
378 =i £ o] W= Z 10 3 |92.02f 3 [121] 4.5 0




F5 B R BT AR RN A FR w4 TR | | #e 0 R 28 BS| sesu|worm|en crm | emmrerern| R
379 25t B gt HBHT T Z o 3 |o9t.91| 4 J121] 4.52 0
380 = 2 BEREAX Z [0 3 191.69] 5 [121] 4.47 0
381 25t B gt XI¥E Z o 3 |91.19f 6 | 121] 4.39 0
382 e o Lo ET Z ] 0 3 [90.96] 7 | 121 4.39 0
383 25 b & B L Z [0 3 |89.35] 9 |121] 4.25 0
384 e 2 HEN Z 10 3 |89.34] 10 | 121] 4.24 0
385 5B & [in] FH 4 Z 10 3 |88.53] 11 ]121] 4.19 0
386 Z ke KRG FFEH EHT Z ] 0 3 [88.95] 1 | 41| 4.21 0
387 = AL 3 L Z 10 3 |87.73] 2 [ 41 ] 4.09 0
388 &k EbT KRG FFEH %A Z | 0 3 [87.11] 3 | 41| 4.05 0
389 25 B BT E HAKE 5’4 0 3 86.50 | 4 | 41 3.93 0
390 PSS TR LN 510 3 190.65f 1 [ 49 [ 4.33 0
391 Wk 2= B G TR RFER 210 3 189.02] 2 [49] 4.19 0
392 PSS TR A Z 10 3 |88.30f 3 [49 [ 4. 11 0
393 Wk 2= B AT TAKE 210 3 |83.53] 6 | 49| 3.64 0
394 PSS TR (WAL 210 3 |82.46| 7 [ 49| 3.54 0
395 Wk 22 B Kb LR X2 210 3 |83.8] 1 [50] 3.68 0
396 N KA T2 TR 510 3 |83.12f 3 [ 50 3.6 0
397 Ak 2EBE KA LR S1hES B2 lo 3 [82.99] 4 | 50 3.6 0
398 NS KA TR TH B 10 3 |82.63] 5 [ 50 3.57 0
399 WOl B Kb LA B e g 510 3 |82.48] 6 | 50 | 3.54 0
400 NS WL TR VLR Z 1 0 3 |87.68] 1 [ 50 4.1 0
401 NS WL TR {A] 2% F10 3 |87.46] 2 | 50 | 4.06 0
402 RN Mz THE TKER ] Z 1o 3 [86.05] 3 | 50| 3.94 0
403 NS WL TR k=) zZ [0 3 |85.59] 4 | 50| 3.89 0
404 Ak 2B W L LRE REE Z 1o 3 [81.35] 1 ] 39| 3.49 0
405 NESTH WL LR EAN ] Z [ 0 3 [78.93] 3 | 39| 3.27 0
406 b2z R W Yn L TR il B2l 3 |76.98[ 10 39| 3.04 0
407 Ji 51 5 R A B [ A FEEIS H 7z |1 0 3 189.73] 1 | 84| 4.32 0
408 P 55 R Ak B [ sk G 510 3 189.34| 2 | 84 | 4.28 0
409 Ji 505 R A B [ A LA % | 0 3 |88.96] 3 | 84| 4.21 0
410 P 55 R Ak B [ 2 TipE Z 10 3 |88.27| 4 [ 84| 4.13 0
411 Ji 51 5 R A B [ s 2 ¥t % 10 3 186.99] 5 [ 84 | 4.02 0
412 [ 505 RO A B [ s 2 TRk 21O 3 |86.92] 6 | 84| 4.04 0
413 [ S5 R Ak A B [ S A e % | 0 3 186.82] 7 | 84 4 0
414 [ 505 RO A B J 52 2 Z 1o 3 | 86.79] 8 | 84 4 0
415 PREEP A SRR Z [0 3 |87.25] 1 [ 68| 4.02 0
416 MREEBRE PRE 3L Z ] 0 3 [86.72] 2 | 68 ] 3.98 0




F5 B R BT AR RN A FR w4 TR | | #e 0 R 28 BS| sesu|worm|en crm | emmrerern| R
417 PREEBRE PRE TR Z o 3 |85.87| 3 | 68| 3.88 0
418 PREEP A FEE Z [0 3 |84.97] 4 | 68| 3.82 0
419 PREEBE R Tk i B 10 3 |84.95] 5 | 68 ] 3.81 0
420 PREEBE PR At Z 10 3 [84.86] 6 | 68 | 3.81 0
421 PREEBRE TR LR 2l Z | 0 3 | 87.4] 1 [38] 4.06 0
422 PREEBE FRAR LR AR B 10 3 |82.76] 2 | 38 ] 3.63 0
423 PREEBRE TR LR L B 10 3 | 82.1] 3| 38] 3.51 0
424 PREBR KR FE S BB i 2Kt B 10 3 [88.44] 1 | 34| 4.18 0
425 PREEBR KRR SRR (DB B 10 3 |86.51] 2 [ 34] 3.96 0
426 PREEBE KR S AR Btk B 10 3 |84.37] 3 | 34| 3.76 0
427 PREEBR bl A [IEiEETS B 10 3 [91.56] 1 | 39| 4.47 0
428 PREEBE bl %t 10 3 190.55[ 2 [ 39 ] 4.38 0
429 PREEBR fel A i ik A Z | 0 3 189.59] 3 | 39 4.3 0
430 i | A=A T R B 75 Z 1o 3 [88.63] 1 | 34 4.2 0
431 SRS AL A B i e 3 AP Z |1 0 3 |88.14] 2 [34] 4.15 0
432 i | A=A T R B P RiE Z 1o 3 [87.92] 3 | 34| 4.15 0
433 NS S AL 2R B N B (th A A A0 & 4 7| 0 3 |91.98] 1 |102] 4.5 0
434 iRV A | A A U Bl B (h A R A0 %) 20 Sk Z |0 3 91.5 | 2 |102]| 4.44 0
435 i S Ak 22 e N B (h A A E A0 5K Bl Z [0 3 |90.52] 3 |102] 4.33 0
436 A A A R (h AR AR2E) SR Z 1 0 3 190.33[ 4 [102] 4.32 0
437 Jig IS S b 22 e N B (h A A E A0 aKAE— Z [0 3 |89.27] 6 |102] 4.23 0
438 A A A R (h AR AR2E) T AR Z 1 0 3 |89.11[ 7 [102] 4.24 0
439 JiE I S b 22 e R (h AR 70 2%) K LT Z [0 3 |88.96] 8 |102] 4.16 0
440 i S Y 22 B R (AN EEAR2E) ) Z ] 0 3 |88.43[ 9 [102] 4.15 0
441 i S Ak 22 e AL PP A B 1 S Z [0 3 |88.53] 1 |35 ] 4.17 0
442 A A A AL B H Z 1 0 3 |86.36f 2 [ 35 3.93 0
443 i RS A | A= 4 U AL X2z B % | 0 3 [86.05] 3 | 35] 3.95 0
444 FEARZRE NN s INEPE Z 10 3 87 1 | 30] 4.02 0
445 FARZEE ST RN % |1 0 3 186.89] 2 [30] 3.99 0
446 FARZERE 2 1H| FBIE 510 3 88.1 | 1 | 62| 4.13 0
447 FARZEE 2 1| W E 210 3 [86.78] 2 | 62 4 0
448 FARZERE 2 1H| X2 Z 10 3 |86.22 3 [ 62| 3.94 0
449 FARZEE 23 1] G % |1 0 3 [84.89] 7 | 62 3.8 0
450 FEARZERE 2 1| TV, Z 10 3 | 845 10] 62] 3.79 0
451 EAR 2T 22 1] X % | 0 3 |84.37] 11 [ 62| 3.75 0
452 FEARZERE P AL IR T N B 10 3 [88.96) 1 | 73] 4.23 0
453 EAR 2T NI PN RN R JIK % | 0 3 |87.02] 3 [ 73] 4.03 0
454 FEARZERE P AL IR T A Z |0 3 | 8701 4] 73] 3.99 0




F5 B R BT AR RN A FR w4 T B | mesm| Hea R S8 BRSR| sasu| #aas| e CPBsD | mmperars
455 FEARZERE AL IR T X & Z 1 0 3 |86.56] 6 | 73] 3.94 0
456 EAR 2T P AL IR BT 2R % | 0 3 |86.41] 7 [ 73] 3.98 0
457 FEARZERE AL IR T L R Z 1 0 3 |86.23] 8 [ 73] 3.92 0
458 EAR T P AL IR T X = Z 10 3 [84.46] 18| 73| 3.74 0
459 FRYPY 5 6 TR 2B PR AR 7K B Z 1o 3 |88.73] 1 [ 82] 4.18 0
460 PR 5 £ TRE 2B BRI A% Pl Z ] 0 3 [88.42] 2 | 82| 4.18 0
461 FRYY 5 6 i TR 2B PR A ZEE Z 1 0 3 |87.52] 3 [82] 4.08 0
462 RV S £ dh LRE AR PR T2 i B 10 3 [86.54] 4 | 82 [ 3.95 0
463 FRYPY 5 6 i TR 2B PR AR KILE Z 1o 3 |1 8.9] 5 [82] 3.8 0
464 RV S L RE AR PR T2 M Z 1 0 3 [85.56] 6 | 82| 3.84 0
465 AR 5 6 i TR 2B BRI T2 2 Z 1o 3 |84.73] 7 [ 82 ] 3.83 0
466 BRI B i TAR2ER amkles TR FRZE ML 510 3 190.83f 1 [ 85| 4.38 0
467 FRYY 5 i TR 2B Bkl TR RAEAE Z |1 0 3 [ 90.3] 2|8 | 4.33 0
468 BRI B i TAR2ER amkles TR i 10 3 |89.31f 3 [85 | 4.17 0
469 FRYY 5 i TRE 2B Bkl TR il 710 3 |88.57] 4 [ 85| 4.16 0
470 BRI B i TAR2ER amkles TR I 2 Z 10 3 |88.23| 5 [ 85| 4.13 0
471 FRYY 5 i TRE 2B Bkl TR Tk Z |1 0 3 88 6 | 85 | 4.12 0
472 BRI B i TAR2ER amkles TR IR ER Z 10 3 |86.751 7 [ 85 [ 3.99 0
473 RS £ d T RE 4B Bkl T W 4 7 |1 0 3 86 8 | 85| 3.86 0
474 PRSP 5 £ b TRE 22 aniESEse i Z 10 3 | 87.44| 1 | 73] 4.05 0
475 AR 5 TRE 2B B iE S %A PRI A Z [0 3 |87.04] 2 | 73] 4.03 0
476 B 5 £ TRE 2B B eSS %4 MEH Z 1o 3 [86.98] 3 | 73| 4.02 0
477 FRP S £ d T RE 4B B iE S %A paliikas 510 3 | 8.8 4 [ 73] 4.03 0
478 B 5 £ d TRE 2B B ESE4e i B 1o 3 [86.25] 5 | 73| 3.94 0
479 RS £ d T RE 4B B iE S %A R 7 |1 0 3 |86.22] 6 [ 73] 3.93 0
480 pdead prdeas & 0 3 |87.47[ 1 [ 41| 4.04 0
481 AP i 9 OCHE 7z |1 0 3 |83.27] 3 [ 41| 3.64 0
482 prdead pideas A Z 10 3 |83.07f 4 [ 41| 3.62 0
483 A 2B P WRE % 10 3 |82.67] 5 [ 41 ] 3.58 0
484 A 2E R pideas [E R Z 10 3 82.9 | 1 | 28 3.6 0
485 AP i P F 10 3 |82.66] 2 [ 28] 3.64 0
486 A 2E b ol B 5 M5 Tt Z 10 3 J91.25f 1 [ 61| 4.42 0
487 A 2B Ly TR S5 2 % 10 3 [88.22] 2 | 61| 4.16 0
488 A 2B Al g 5 S R Z 10 3 |87.03] 3 [61] 4.02 0
489 Pl Ty TR 55 R % | 0 3 [85.56] 4 | 61| 3.87 0
490 A 2B Al g 5 S S Z 10 3 |84.65] 6 [ 61 ] 3.77 0
491 A B 2 iz % | 0 3 |83.87] 1 [ 52 3.7 0
492 p gl i 2 BT 510 3 |83.59] 2 | 52| 3.62 0
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493 B [P SEE 4 21O 3 |82.94] 3 | 52| 3.62 0
494 A 22 bd 2 Z=AL % | 0 3 82.1 | 5 | 52| 3.53 0
495 B AR X E Z o 3 190.56) 1 ] 33| 4.36 0
496 P&l RSN et Am Z 10 3 |88.46] 2 [ 33] 4.19 0
497 &35 ECY<ia BXE Z 10 3 |87.85] 3 [33] 4.10 0
498 e RSN P & 20 3 |86.61] 1 | 24] 4.01 0
499 &35 AR e 21O 3 |85.02] 2 [24] 3.83 0
500 A 22 RSN W15 Z 1o 3 |88.11] 1 | 24| 4.12 0
501 &30 AR A Z 1o 3 186.05] 2 | 24| 3.92 0
502 P&l RSN AR Z 10 3 |85.94] 12 [ 81 ] 3.90 0
503 Pl W B2 AR 5 B il Z 1o 3 190.47] 1 [ 36 ] 4.35 0
504 P el W L2 R S B ER 510 3 188.93[ 2 [ 36 4.21 0
505 B W R 2GR 5 B Y Z |1 0 3 |88.37] 3 [3] 4.13 0
506 & EXTA o e e U o T Z 10 3 |82.37f 6 [ 53] 3.57 0
507 & SN = A U e X HT Z |1 0 3 |86.24] 1 [ 53] 3.93 0
508 & SN T3 e e U o I i Z 10 3 |85.02f 2 [ 53] 3.83 0
509 & SN = A U AR T 2 [0 3 [83.90] 3 | 53] 3.69 0
510 A Bl 2 B AEPEAR P s Z 10 3 [88.22[ 1 | 53] 4.12 0
511 & SN =24 U YA A % | 0 3 |87.18] 2 | 53| 4.04 0
512 & EXTA o A A U EX VSN B AF] 0 3 185.99( 3 [ 53] 3.9 0
513 & SN =AU YA ERHE 210 3 |85.31] 4 [ 53] 3.8 0
514 & EXTA o A e U PR iz Z 1 0 3 |83.23 7 [53] 3.63 0
515 & SN =24 U LR XIHE2T 2 | 0 3 |90.00] 1 | 46| 4.31 0
516 & EXTA o A e U R F 3R Z 1 0 3 |89.05[ 2 [ 46| 4.19 0
517 & SN =AU LR i/ 7 |1 0 3 |88.95] 3 [46] 4.17 0
518 & EXTA o A e U R HAAF 0 3 |88.05[ 4 [ 46| 4.13 0
519 A B 2 B YR A 7z |1 0 3 |87.77] 5 [ 46| 4.06 0
520 Bt 580 e 5 N w2 B 10 3 | 91,4 1 J105] 4.42 0
521 B 5 G2 B 5 R CE 2 510 3 [88.78] 2 | 105| 4.18 0
522 Bt 580 B 5 N e (SRR 210 3 | 87.58[ 3 |105] 4.06 0
523 B 5 G2 B 5 R CE B/ g % 10 3 |87.15] 4 [105] 4.02 0
524 Bt 580 e 5 N K G B 210 3 |86.57 5 ] 105] 3.98 0
525 B 5 G2 B 5 R CE bl % 10 3 |85.82] 6 [105] 3.9 0
526 B S gt b B 5 N e BT 510 3 |85.76] 7 |105] 3.91 0
527 Bt 5 gt e 5 N G S Bk % | 0 3 |85.44] 8 [105] 3.87 0
528 B S gt b I XIFESE Z 1o 3 |85.23] 9 |105] 3.82 0
529 Bt 5 gt e 5 N B R 210 3 |85.04] 10 | 105] 3.82 0
530 Bt 5880 B gilcE M2 &E B 10 3 | 89.3 1 ] 64] 4.22 0




F5 B R BT AR AREN IR 44 T || Hear R| LA RS e ra PR | emanenarm| YR
531 e W R Gl H1HE 21O 3 |86.42] 3 [ 64] 3.95 0
532 Bt 5 g Sl K Z [0 3 |81.59] 7 [64] 3.46 0
533 B S gt b N Tjifl v Z 1 0 3 |88.84] 2 [64] 4.18 0
534 Bt 5 G2 Rl S 32 1% Z ] 0 3 [83.86] 4 | 64 3.7 0
535 N HEHE HB B 21O 3 |89.21] 1 [105] 4.23 0
536 NSk HEHE gKiE A 210 3 189.19] 2 [105] 4.23 0
537 N HEHE B Z 1 0 3 |87.96] 3 [105] 4.13 0
538 kA WEHEHEH FLABRR Z 1o 3 [87.57] 4 | 105] 4.07 0
539 N HEHE P Z 10 3 186.96] 5 [105] 3.96 0
540 kA HEHE EREL Z 10 3 |86.70] 6 [105] 3.98 0
541 N HEHE it Z 1o 3 |85.82] 7 [105] 3.92 0
542 Nk HEHE Al Z |0 3 [85.74 8 | 105] 3.92 0
543 g 2Eb HEHE B3 % 10 3 |85.40] 9 [105] 3.85 0
544 = HEHE B Z 1o 3 [83.93] 10 |105] 3.70 0
545 g 2Eb WHEE Tt 210 3 |81.50] 1 | 31] 3.44 0
546 o N Y FEUR B RN AR FH 75 55 Z 10 3 |8851f 1 [65] 4.19 0
547 AR THEZPT FEUIA 5 REYE N T AR Kt $f 2| o 3 [83.85] 2 |65 3.72 0
548 AR TRE2ERE FE TR 5 B TR ¥ 2| 0 3 |80.54| 3 | 65| 3.38 0
549 AR TREBR A R N AR Bk B2 lo 3 |80.37] 4 | 65 3.4 0
550 TR TP FERUR 5 R N AR A HE B 10 3 |79.46| 5 [ 65| 3.34 0
551 AR TRE2ABR JKFZK B T FE IR i % |1 0 3 |91.62] 1 | 85| 4.42 0
552 TR TP IKAK T xR Z 1 0 3 |88.03f 2 [ 85| 4.11 0
553 AR TRE2ABR JKFZK HL T FE 2R Y 210 3 |87.87] 3 [85] 4.16 0
554 TR TP IKAK A T B B 10 3 |87.51| 4 [ 85| 4.07 0
555 AR TREBR JKFZK L T FE =R Z [0 3 |85.61] 5 | 85 3.9 0
556 TR TP IKAK T R B 10 3 |85.49( 6 [ 85| 3.88 0
557 TR TR KA THE AR IS B10 3 [84.60] 7 | 8 | 3.79 0
558 TR TR JKAK HL T2 B Z 10 3 |83.91f 8 [ 85| 3.71 0
559 TR TREZABR +ARTH Sl 510 3 188.87] 1 [337] 4.2 0
560 T AR +ARTHE Ji ek ER 3 |88.83[ 2 |337] 4.19 0
561 TR TRE2ABR +ARTH Tl % F 10 3 |88.35] 3 [337] 4.16 0
562 T AR +ARTHE & 510 3 | 87.84[ 4 |337| 4.11 0
563 TR TREZABR +ARTH JERR F 10 3 |87.03] 5 [337] 4.04 0
564 TR TRE2AB +ARTH TRAfH B 10 3 186.95] 6 [337] 4.04 0
565 TR TRE2AB TR TR S 510 3 |86.94| 7 [337 4 0
566 AR TR +ARTHE fr {5 F10 3 [86.89] 8 |337] 4.05 0
567 TR TRE2AB TR TR T= 510 3 186.69] 9 [337] 4.02 0
568 AR TR +ARTHE G 5 F10 3 [86.52] 10 | 337 ] 3.96 0
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569 TR TR +ARTH T Z 10 3 |86.18f 11 [337] 3.92 0
570 TR TRE2AB TARTHE ZI1EX B 10 3 |85.79] 13 |337] 3.88 0
571 TR TRE2AB +ARTHE SRR Z o 3 |85.26| 14 ]337] 3.86 0
572 TR TRE2EPE TARTHE IR 510 3 |85.20] 15 [337] 3.84 0
573 TR TRE2ERE +ARTHE ] 21O 3 |85.15] 16 [337] 3.9 0
574 AR TRE2ARE +ARTHE xRl B 10 3 [84.97] 17 | 337| 3.84 0
575 TR TR 2R TR THE IMEE F10 3 [84.78] 18 | 337] 3.81 0
576 TR TEE2EPE TARTHE ) 510 3 |84.59] 19 [ 337] 3.81 0
577 R TRE2ABE +ARTHE ZIL B 10 3 |84.58] 20 [337] 3.77 0
578 TR TRE2EPE TARTHE PNSE B 10 3 |84.39] 21 |337] 3.78 0
579 AR TR B AR EH Z 10 3 |84.21] 22 1337] 3.72 0
580 AR TR T ARTHE 27k )] pal 0 3 |83.51[ 24 |337] 3.68 0
581 AR TRE2AB +ARTHE BHRA B 10 3 |83.36] 25 [337] 3.67 0
582 R TRE2#BE o NI EER 510 3 |83.32) 26 [337] 3.67 0
583 TR TREZEBRE TARTHE F B2 lo 3 |82.98] 27 [337] 3.61 0
584 o N Y o NI =) 510 3 |82.97[ 28 [337] 3.64 0
585 TR T2 +ARTHE MEE Z |1 0 3 |82.73] 29 [337] 3.56 0
586 o N Y o NI X TG 510 3 |82.73[ 29 [337] 3.6 0
587 A1 5 22 B 4 fr) i F¥ Z 1 0 3 88.6 | 2 | 16| 4.16 0
588 A1 [E1E 2Bt Hig Bl B 10 3 |91.87f 2 [ 57| 4.52 0
589 A1 B Bt Hi& ME=E % |1 0 3 |89.99] 3 | 57| 4.31 0
590 Ah B 2= B Hig PR Z 10 3 [89.66[ 4 | 57| 4.29 0
591 A1 22 B Hig T Z 1 0 3 [89.11] 6 | 57| 4.22 0
592 A1 1S 2Bt Hi& IR Z 1 0 3 |89.03[ 7 | 57 4.2 0
593 A1 B Bt HiE M5 Z [0 3 |88.41] 11|57 414 0
594 A1 [E1E 2Bt JiiE [ A HE P10 3 189.96[ 1 [257] 4.31 0
595 A1 E1E 22t HiE [ % | 0 3 [89.45| 2 |257| 4.25 0
596 A1 18 2Bt JiE X 4is 510 3 189.33[ 3 [257] 4.22 0
597 A EE B JEil N % 10 3 [89.25] 4 | 257 4.24 0
598 A1 18 2Bt JiE EfE Z 10 3 |89.15[ 5 [257] 4.22 0
599 A1 E1E 22t HiE %Ak 7z |1 0 3 189.06] 6 [257] 4.18 0
600 AN R = HiiE K I Z 1o 3 |89.06] 7 |257] 4.21 0
601 A0 B 22 B JEik IR w10 3 [88.95] 8 | 257 4.2 0
602 Ah 1522 e HiE X L Z 10 3 88.9 | 9 | 257 4.2 0
603 A1 [E 18 =Bt HiE T4 % | 0 3 |88.85] 10 | 257 | 4.21 0
604 AN R =T HiiE PR RE Z 1o 3 | 88.8 | 11 ]257] 4.21 0
605 A1 [E 18 =Bt HiE we Z [0 3 |88.26] 12 [257] 4.15 0
606 Ah 1522 e HiE A Z 10 3 |87.97f 13 [257] 4.08 0
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607 Ah 1522 e JiE ERE] Z 10 3 |87.88| 14 [257] 4.08 0
608 A1 18 =Bt HiE B Z [0 3 |87.86] 15 [257] 4.1 0
609 b EE B HiE 2= Z o 3 | 87.63] 16 ]257] 4.06 0
610 AN o HLiE B Z 1 0 3 [87.52] 17 | 257 4.04 0
611 AN R JEil TR I Z 1o 3 |87.39] 18 [257] 4.06 0
612 A1 [E1E = e HE sK I 55 Z 10 3 187.37] 19 [257] 4.05 0
613 b EE B JEil RE: 3% Z 1o 3 |87.26] 20 | 257] 4.01 0
614 A1 [EE =Bt HiE R Z 1o 3 |87.23] 21 [257| 4.04 0
615 b EE B JEil SR Z 1o 3 | 87.2 ] 22 [257] 4.05 0
616 AR POE F e Z 10 3 |91.29] 1 [174] 4.44 0
617 AR PUE S A R Z 10 3 ]91.06] 2 |174] 4.41 0
618 SR PUE 5 2N Z 10 3 |90.64| 3 |174] 4.35 0
619 AR PUE F 2 ik Z |1 0 3 ]90.61] 4 [174] 4.35 0
620 AR PUE 5 (AvEEd Z 10 3 |89.88( 5 [174] 4.28 0
621 AR PUE 5 L el B 10 3 189.35] 6 [174] 4.26 0
622 B PUE 5 R 1 Z 10 3 189.19[ 7 [174] 4.24 0
623 AR PUE F 2 [l 210 3 189.18] 8 [174] 4.22 0
624 B PUE 5 i SIRERA Z 10 3 189.15( 9 [174] 4.2 0
625 AP PUE & 2 TAEHk Z [0 3 |88.96] 10 | 174] 4.17 0
626 LR PUE F 2 4 B 1o 3 [88.79] 11 |174| 4.17 0
627 AP PUE 5 LT 7 |1 0 3 |88.56] 12 | 174] 4.13 0
628 LR PUE F 32 2y Z 1o 3 [88.37] 13 174 4.11 0
629 AP PUE F 2 PR 7 |1 0 3 |88.08] 15 |174] 4.11 0
630 B DUE 5 Lk Z 1 0 3 |88.03f 16 [174] 4.07 0
631 Yy =B Wy Zfid e 210 3 192.01] 1 [124] 4.5 0
632 VB E B B XIS 210 3 [88.55] 3 |124] 4.21 0
633 Yy =B Yy AN B10 3 [89.72] 4 | 124 4.13 0
634 Y32 B Yy A 7 1 4 Z 1o 3 |86.88] 5 |124] 4.01 0
635 VBB YR FEiEE Z [0 3 |85.42] 6 |124] 3.86 0
636 YEE =B YR KA 510 3 |85.42| 6 |124] 3.87 0
637 VBB YR 2% B2l o 3 |86.21] 8 [124] 3.83 0
638 YEE =B Yy Ff X B Z 10 3 |84.06| 9 [124] 3.74 0
639 Y32 B Yy FTR % 10 3 |83.77] 10 [124] 3.66 0
640 LB B TKIEAS Z 1o 3 |83.25] 11 ]124] 3.64 0
641 VPR AE B bYIPEES fif 5 5l B 10 3 |83.81] 12 | 124] 3.61 0
642 R B2 B JH 5 R Z 10 3 |86.87 1 ] 50| 4.02 0
643 JH 52 B L P BHER % | 0 3 |84.46] 2 [ 50] 3.75 0
644 R B2 B S JaREd] Z 1o 3 |84.41| 3 | 50| 3.73 0
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645 JH B B JH ZRRERES Z 1 0 3 [|83.81 4] 50| 3.65 0
646 JH 52 B JH 5L [iE Z [0 3 |83.18] 5 [ 50| 3.62 0
647 2B % T 210 3 190.350 1 | 73] 4.36 0
648 2455 ik Bl Z 1o 3 189.96] 2 [ 73] 4.29 0
649 ik 7y i Z | 0 3 [88.47] 3 | 73| 4.11 0
650 22 ik XK LG 20 3 |88.04] 4 | 73| 4.14 0
651 252 2 T Bl o0 3 [87.94] 5 | 73| 4.11 0
652 245 ik H R4 210 3 |87.83] 6 [ 73] 4.08 0
653 2B il 24 TFE M B 10 3 | 89.8] 1 | 74 4.3 0
654 245 il 245 T2 Al /N Z 10 3 |87.45] 2 [ 74| 4.07 0
655 2B il 24 TFE T Z 10 3 |85.47] 4 [ 74| 3.88 0
656 S il 25 T2 AR Z 10 3 |84.69[ 5 [ 74 3.8 0
657 i il 24 T% K Z |1 0 3 |84.65] 6 [ 4] 3.75 0
658 245 il 25 T g7 10 3 183.97f 7 [ 74 3.69 0
659 = e EICFE 2 [0 2 |87.86] 1 | 39| 4.09 0
660 I 2B Ei = e HEA Z 10 2 |86.47] 2 | 39| 3.93 0
661 = Ei s X H 2 [0 3 |85.32] 3 39| 3.84 0
662 I 2B e Tt% 0 2 85.3 ] 4 | 39| 3.85 0
663 = PR AR Z [0 2 |85.12] 5 | 39 3.8 0
664 = 22 Bt P E 3k Z 10 2 [84.24] 6 | 39| 3.73 0
665 RSB FKIH &1 % |1 0 3 1837 ] 1 [38] 4.17 0
666 AR FH HEE Z 1 0 3 |87.16f 2 [ 38| 4.03 0
667 RSB FKIH P % |1 0 3 186.96] 3 | 38| 4.01 0
668 R 2ERT FiH SR B 1o 3 [86.13] 4 | 38| 3.9 0
669 RSB FKiH TK N ik % |1 0 3 |85.41] 5 | 38| 3.84 0
670 =R Eb FH 2R Z 1 0 3 |84.79( 7 [ 38| 3.77 0
671 IR 2ERT FIH 2GS % 10 3 |84.15] 10 [ 38 | 3.72 0
672 R 2ERE FEER R J e e Z 1o 3 191.39 52 | 4.48 0
673 IR 2ERT SR IR b s 7z |1 0 3 |88.81 52 | 4.18 0
674 =R b FRIFAR A KK ST Z 10 3 | 86.99 52 | 3.99 0
675 IR 2ERT SR AU SV R Z [0 3 |87.25 10 | 4.02 0
676 =R b X AW Bt Z 10 3 |86.79 10 | 3.97 0
677 IR 2ERT BRI BH ST % 10 3 | 82.6 127 3.58 0
678 AR B AR R FHUR Z 1o 3 [82.01 127 3.57 0
679 R 2ERT IR Tk B % | 0 3 [80.95 127 3.43 0
680 AR EEbT AR R T 7 Z 10 3 | 79.51 127 3.33 0
681 R 2ERT IR i % 10 3 | 78.62 127] 3.18 0
682 AR EEbT AR R [k Z 10 3 | 78.38 127 3.2 0
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683 AR B SRR B RAE Z o 3 |77.61] 30 [127] 3.05 0
684 TEHH S RIES P A B 10 3 192.53] 1 [ 47| 4.53 0
685 P 5o KR P2 R Z o 3 190.57] 2 [ 47| 4.33 0
636 P 5tk R RS P X RH B 10 3 189.57] 3 [ 47| 4.25 0
687 P 5o R R P FIVE = Z 10 3 |1 89.2 ] 4 | 47| 4.21 0
638 P 5tk R E S P EIN Z 10 3 189.02] 5 | 47 4.2 0
689 PRSP TR B H R TR IS Z 1o 3 |82.54] 2 [ 34] 3.58 0
690 RS TR HhJsi TFE A B 10 3 [78.88] 5 | 34| 3.27 0
691 POE S P TR 2B H R TR AL Z 1o 3 |78.78] 8 [ 34] 3.18 0
692 RS TR B o TR 24 Z 10 3 |84.71] 1 | 37 ] 3.81 0
693 PRSI TR H R TR R EE Z 1o 3 |82.76] 2 [ 37] 3.59 0
694 RIS IR TR HoJ TR SH 510 3 |81.47f 3 [ 37| 3.46 0
695 PHE S IR TR g T FE/KYL B 10 3 |83.74] 23| 87| 3.41 0
696 RIS IR TR g TR X 25 Z 10 3 189.34[ 1 [ 87 [ 4.22 0
697 PR S IR TR g T R [H] Z |1 0 3 |88.14] 2 [ 87| 4.13 0
698 RIS TR g TR TuE Z 10 3 |87.25( 3 [ 87| 4.03 0
699 PR S IR TR g T J2 5 A, 210 3 |87.16] 4 | 87| 4.01 0
700 RIS I TR g TR Tk Z 10 3 |85.23[ 5 [ 87 [ 3.85 0
701 PHE S IR TR R4 TR b = 7 |1 0 3 85 6 | 87 | 3.77 0
702 PRSP TR 2B R4 TR e Z 1o 3 |84.71 7] 87 ] 3.81 0
703 PHE S IR TR R4 T RAF % |1 0 3 84 8 | 87 | 3.74 0
704 RIS TR KIS K FYE T B Z 1 0 3 |84.82| 1 | 45 3.8 0
705 PHE S IR TR KL 5K YR TFE BT 210 3 |84.47] 2 [ 45] 3.75 0
706 PRSP TR KIS K FYE T R g Z 1o 3 [83.98] 3 |45| 3.68 0
707 PHE S IR TR KL 5K YR TIE L& 510 3 |82.88] 4 | 45| 3.62 0
708 RIS TR A TR IR Z 1 0 3 |87.21f 1 [ 46| 4.03 0
709 TR S TR PR TR B % | 0 3 [83.74] 2 | 46| 3.72 0
710 PR S PR TRE 2B R A TR Tk e Z 1o 3 | 831 3] 46| 3.63 0
711 TR S TR PR TR 2R b % |1 0 3 [81.04] 4 | 46 | 3.43 0
712 PN = AFEFENE R T8 Z 1o 3 |88.48) 1 | 51| 4.16 0
713 A R 22 B XL JE I A ¥ % 10 3 |85.12] 1 [ 48] 3.83 0
714 PN ] HEPARE X AN Z 10 3 [86.94 1 ] 38| 3.99 0
715 PN R vl U BAREYEEE Zr % | 0 3 190.08] 1 [ 53] 4.29 0
716 PN 2] Yy BT Z 10 3 |90.26] 1 | 52| 4.31 0
T17 |4 TR I R (510 T 200 TS TS ¥4 138 3 4@ 0 3 83.55| 7 73 3.54 0
718 | ML TR Kby (A2 540 T 265D =y T EM @ 0 3 82.96 | 4 29 3. 46 0
719 | gk TR IF Ry (50 T 2%00) M AL P =i 4@ 0 3 87.28 | 12 | 88 3.8 0
720 | AL TR & s (R 5 TR BRI T % BHE 0 0 3 84. 75 9 82 3.67 0
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T21 | b TR ST bt GRS e A2 BhnES%S T i 0 3 85.04| 15 | 73 3. 62 0
722 VREAIAL TR FE R R AL CREEBE) YRS AT | 0 3 18761 9 [33] 3.92 0
723 RS TRFFOIPR B0 CR¥BD | hER 54w i 4 4 Z |0 3 |88.69] 4 |36 [ 4.13 0
724 | HAMETHITOIT K0 CEfBLAERD AW} Wi 5 0 3 185661 9 | 46 3.89 0
725 |KEantk THEFCITR Al (B0 iz LA RYE zZ |0 3 |82.88] 13 | 75 3.5 0




